1 1TL14 (K1 1n14)

Linearized knot diagam
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Solving Sequence

6’10?7?3’110ﬁ5?9?471?2?’8%01,04,07
A knot diagranﬂ 6 ©10 5 9 3 i1 C2 3

Ideals for irreducible component#ﬂ)f Xpar

I = (=3u® — 6u* 4+ - +2b — Tu, Tu® + 140* + - + 20+ 9u, v*® +3u®® +-- Fu—1)
Iy ={(b+a,a*—a+1, u* —u—1)

* 2 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(—3u?5—6u?t+- . - +2b—Tu, Tu?®+14u*+.. - +2a+9u, u?6+3u?°+.. . +u—1)

(i) Arc colorings
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(ii) Obstruction class = —1

(iii) Cusp Shapes = Ju®® 4 4u?! — 3Tu?3 — 41022 + 277421 4 30520 _ 397,19 —
205u'® 4 M8 u17 — 141010 — 910u'® 4 742u + 464u'® — 12412 4 3740 + 3810l —
512uf + 147u® + 22247 — 24708 — 2’ + 2t — 53u’ — 27u? — Lu +9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cy w4+ 3P+ —3u+1

C2 u? + 15u® + - — 23u+1

C3,Cs u — P 4. 4 16u—16

Cs u?® —3u® 4+ — 1lu+2
Ce, C7, C9 u2673u25+...7u—1

C10
C11 u +3uP + - +3u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1,4 v 15y .- — 23y + 1
C2 y?® —5y* 4+ — 795y + 1

c3,Cs y?0 4+ 25y + ... + 1664y + 256
cs y26_25y25++7y+4
Ce, C7, C9 y26 _ 29y25 T 19y + 1

C10

cn v 431y + - 19y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.608473 + 0.7158071
0.153590 — 1.0458301 | —7.73283 + 7.289191 4.65018 — 5.968121
—1.73126 + 0.243971

0.608473 — 0.7158071
0.153590 + 1.0458301 | —7.73283 — 7.289191 4.65018 + 5.968121
—1.73126 — 0.243971

0.433445 + 0.7618361
—0.011324 — 1.1027901 | —8.25588 — 2.372351 3.41364 4 0.566441
—1.56800 + 0.061241

0.433445 — 0.761836.1
—0.011324 4 1.1027901 | —8.25588 + 2.372351 3.41364 — 0.566441
—1.56800 — 0.061241

0.514434 + 0.6704931
—0.106433 4 1.1465701 | —4.15442 + 2.258201 7.09524 — 3.004581
1.59480 — 0.233031

0.514434 — 0.6704931
= —0.106433 — 1.1465701 | —4.15442 — 2.258207 7.09524 4 3.004581
1.59480 + 0.233031

—0.730522 4 0.2646011
= —0.408112 — 0.7215391 0.141642 — 0.4912451 7.19488 4 1.212161
—0.020892 — 0.2423461

—0.730522 — 0.2646011
—0.408112 4 0.7215391 0.141642 + 0.4912451 7.19488 — 1.212161
—0.020892 4+ 0.2423461

1.42824 + 0.098471
—0.332202 4 0.1124161 3.94867 4 3.994011 9.09163 — 3.577781
1.191590 — 0.2626321

1.42824 — 0.098471
= —0.332202 — 0.1124161 3.94867 — 3.994011 9.09163 + 3.577781
= 1.191590 + 0.2626321
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Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.47226 + 0.034601
= —0.29209 — 2.375421
0.36258 4- 1.629111

6.47513 — 2.785531

10.00226 + 3.183081

—1.47226 — 0.034601
—0.29209 + 2.375421
= 0.36258 — 1.629111

u
a
b
u
a
b

6.47513 + 2.785531

10.00226 — 3.183081

u = —1.45262 + 0.270351
a= 0.87552 + 1.413781
b= —1.239850 — 0.3752421

—2.20853 — 1.363421

6.29553 + 0.383771

u = —1.45262 — 0.270351
a= 0.87552 —1.413781
b = —1.239850 + 0.3752421

2.20853 4 1.363421

6.29553 — 0.383771

u = —0.230011 + 0.4588481
a= 0.727275 4 1.0259701
b= 10.536127 + 0.2175171

—1.40190 — 2.191571

3.35211 4 5.420141

u = —0.230011 — 0.4588481
a= 0.727275 — 1.0259701
b= 10.536127 — 0.2175171

1.40190 + 2.191571

3.35211 — 5.420141

u= 149087
a= 0.257464 7.14521 13.5410
b= —-0.956110

u = —1.52539 4 0.215661
a = —1.11758 — 1.588511
b= 1.54625+ 0.704911

2.54423 — 5.473731

10.67253 4- 2.881211

u = —1.52539 — 0.215661
a = —1.11758 + 1.588511
b= 1.54625 —0.704911

2.54423 +5.473731

10.67253 — 2.881211

u = —0.448296
a = —0.791985 0.706372 14.0850
b= —0.195879




Solutions to I

V=1(vol + v=1CS)

Cusp shape

= —1.56905 + 0.240971
= 1.25395 4 1.441661
= —1.78957 — 0.557431

—0.54439 — 10.839701

8.04696 + 6.041881

= —1.56905 — 0.240971
1.25395 — 1.441661
= —1.78957 4 0.557431

—0.54439 + 10.839701

8.04696 — 6.041881

e~ @ 8| o &
|

1.63847 + 0.032271
= 0.0580399 — 0.11157701
= —0.266246 + 0.4742271

8.45818 4+ 1.379201

7.00000 + 2.697071

= 1.63847 — 0.032271
= 0.0580399 + 0.11157701
= —0.266246 — 0.4742271

8.45818 — 1.379201

7.00000 — 2.697071

u=0.335499 + 0.1098691
a = —0.03337 4 2.428861
b= 0.460465 — 1.0528301

0.44924 + 2.248171

0.24032 — 5.781821

u=0.335499 — 0.1098691
a = —0.03337 — 2.428861
b= 0.460465 + 1.0528301

0.44924 — 2.248171

0.24032 + 5.781821




IL I =(b+a,a®*—a+1, u> —u—1)

(i) Arc colorings

ayq =
a; =
a9 =
ag =
—u

a8 == u
(ii) Obstruction class =1

(iii) Cusp Shapes = 2au + 3a — u + 12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
2 2
€1,C2,Cs5 (" +u+1)
C3,Cg u4
€4 (u? —u+1)2
ce, C7 (u? —u—1)2
2 2
€9, €10, C11 (v +u—1)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
cs
C3,C8 314
Cg, C7,C9 (yQ _ 3y + 1)2
€10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

= —0.618034
0.500000 + 0.8660251 0.98696 — 2.029881 13.50000 + 1.527611
—0.500000 — 0.8660251

—0.618034
0.500000 — 0.8660251 0.98696 + 2.029881 13.50000 — 1.527611
—0.500000 + 0.8660251

1.61803
= 0.500000 + 0.8660251 8.88264 — 2.029881 13.5000 + 5.40061
= —0.500000 — 0.8660251

= 1.61803
= 0.500000 — 0.8660251 8.88264 4 2.029881 13.5000 — 5.40061

U
a
b
U
a
b
U
a
b
U
a
b = —0.500000 + 0.8660251
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
C1 ((u2+u+1)2)(u26+3u25+-~-—3u+1)
C2 ((u2+u+1)2)(u26+15”25+'.'_23u+1)
€3, C8 ut (u?® — u? 4+ - 4 16u — 16)
Cq ((u2*u+1)2)(u26+3u25+~~—3u+1)
Cs ((u2+u+1)2)(u2673u25+~~—11u+2)
Ce, C7 (u? —u—1)HW?® —3u® +... —u—1)
€9, C10 (W 4u—-1)Hw?® —3u® +... —u—1)
c11 (W4 u—1))W? +3u® + - +3u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1s ¢ (2 +y+ 1)) (Y% + 15y% + - — 23y + 1)
e ((v* +y+1)°)(y*° =5y +--- = 795y + 1)
¢s, Cs v (y% + 2575 + - + 1664y + 256)
“ (1 +y+ 1)) (y*° =259 + - + Ty +4)
€0, €7, 09 (V" =3y + 1)*)(y*° =299 +--- — 19y + 1)
C10
11 (2 =3y +1)*)(y*0 +31y* + - — 19y + 1)
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